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Part A - & wo

1. (@) Opportunity cost is also called the
cost.

AR TAE [ = =W

(b) In economics, it is generally assumed tha
the consumer is a individual. 1

GG AFeT: 471 =5 @, Totelat
e |

(c). "What is an inferior good ?
e wr e

(d) Total Cost (TC) =

(TVC) 1
GG 73 (TC) =

(¢) State two main features of a perfectly:
competitive market. 1

A afSrafrenEs A 75 27 =Ry
CeTCT |

22T-ECON-BENG 2

.+ Total Variable

o

Mention three basic problems of an economy. 3

G ST fomt (e oot By <@l |

Draw a vertical demand curve and state the nature
of price elasticity on it. 3

36 TR SR (T SEw I @R O v
fHfogsieor o5 @l

The total money income of a consumer is M and
he spends his entire money income on the
consumption of two commodities, viz. X and Y.
The prices of X and Y are P, and 5, respectively.
State the budget equation. 3

ST TATSIGI (6 S M 3R ©F 3547/ 1 B
AN X G ¥ 47 ATl T TR | X GR Y -
IS JAFCT P, @R £, | et T’ @ |

If the total product with 5 units of a variable
factor is 56, calculate the average product. If the
variable factor is increased by 1 more unit as a

result of which the total product becomes 57,
what will be the marginal product ? 3

22T-ECON-BENG 3 : Contd.
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BeAWT 56 27, oG T el 331 | T AR
Sesvats e | I AT e 77, wig

T 0 Besfive 33 57, ORE 2ifEs Tesivg v
J? '

Suppose there are two consumers in a market,
The demand function of the first consumer is —

d)(P)=30~P (when P<30)

and d)(P)=0 (when P> 30)

The demand function of the second consume
is — '

dy(P)=20-2P (when P< 10)
and d, (P)=0 (when P>10)
Find out the market demand function.

4 (P)=30~P (34 P<30)
IR & (P)=0 (397 P> 30)
Tl oiroretx vitw wom 2=

@ (P)=20-2P (T4 P<10) |
AR d,(P)=0 @49 P> 10)
R eI Bifwl oW @@ @

Explain the relationship between average product
and marginal product with the help of diagram.

4
NG Tl 32 2T Serimor NG 7 forag
TARICT GG IR

The production function of a firm is given as

Q= 2/ K72. Calculate the level of output when
it employs 25 units of labour (L) and 16 units of

_capital (K). . 4

5 b Geoltvn T Q=214 K% nemy

IR 25 9 @i (L) IR 16 G FTH (K)

A I AR BRAMCT #HfRe Wefy )

22T-ECON-BENG 5 Ba ‘Contd.



LU, 7751ale and explain the lTaw of demand.

11.
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vifent iM% coear wae @I apm e

The short run total cost (TC) function’ of
production unit is given below. Find out the tota

variable cost (TVC), average fixed cost (AFC)

average variable cost (AVC) and average cos
(AC) schedule.

G 2SO ZHPRA Bl 77 T (TC)
(S AT | @3 (WG #RRSTNT 7% (TVC),
28 78 (AFC), 1w +Rs9er 9 (AVC), @e
T (AC) P! fHufae et
o TC

10
40
i o

80

95

110

130

160

= O

~N QN W B oW N
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OR / 93

Show with the help of diagram that total cost is
the vertical sum of total fixcd cost and total

variable coét. 6

oraw sy orare @, (% 7 @5 7 3w G
G ~AfFTSTeT 3 Sery st

Show how does a monopolist earn profit by using

total cost curve and tota] revenue curve. 6

e CTOHI TN G T @R @ @
e s @ e v S S SIS
eI |

OR / 93t

Explain the relation among the TR, AR and MR
of a monopoly firm with the help of an imaginary
table and diagram. 6

Il e @2 frag AR GG G
AV G =i, TS O R NS ST [y
HE T |
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13.
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AN

(@)

)

(c)

(d)

(e

@i 1R efqerel T 0+ 3 23, o @l Rkl
e f

- T TT — —rew rws Wy WAMWGIILD

Part B — <9 oo

In a modern cconomy, peoplc hold money
broadly for two motives, One is transaction
motive, what is the other ? 1

A weifers g 7 R e Sl
2O A OR 93 20x T e,
T e ' ‘

Name the monetary authority that issues
currency notes in India. 1

ORSIH DG @l 5o w1 e I
AT TR |

What is aggregate demand ? 1
ANET Bifzm e

Given the marginal propensity to save is
0-3, find out the income muitiplier. I

Y =C+ I+ G+ NX —In this equation What
does NX refer to ? 1
Y=C+I+G+NX — @& 704 NY H
QR :

14,

Explain how to calculate gross national product
from gross domestic product. : 3

GG TR Sesiinm (AF (G S e e
e =1 = < =@

I5. Distinguish between gross investment and net
investment. 3
GG fRfC @3k G5 (Srafiie) Rt slidy o
I | S

16. What is net national product at factor cost? 3
oA <G RS 76 (Net) @ISt Bestr 7

7. -What is devaluation of currency ? 3
I SRR 2

18. What is gold standard ? 3
FefS 2

19. Explain the concept of ex-ante consumption. 4
oS Beiteltain aimels gt et

22T-ECON-BENG 9 Contd.



20.

21.

22,

22T-ECON-BENG 10

R B N e S —— = =

_—————pi—— —

What are the sources of government revenue ? §
State briefly, 44

FRPI ASTET Sialer e AT @Ieat|

When does a government incur budget deficit ? |
Suppose the total government spending G =150 |
and tax revenue 7'=0-20Y. Now if the level of

national income (¥) is 2000, what is the condition’

of government budget ? 143=4

43 FRAIC AT WG 4T B |
41 0 A TN AW G =150 G 37 e
T'=0-20Y | 3 @ISR @iez= sAfnd (¥) 2000 =7, 1
FLII ST S Y 22 |

|
|

Explain the circular flow of income in a simplified
economy with two sectors — households and!
firms. 6
70 96 — AR Afedm o <D et 2wl
Gl 3T SAeTS TR B 2tz R WA |

Explain the income method of calbulating gross;
domestic product (GDP). 6

G ST TeoAey (GDP) il it =Rl <<y
Al

Explain the transaction demand for money. 6

I O GifRAiG g e |

OR / oet

What are the instruments of monetary policy used
by RBI ? Explain any two of them. 6
P2 CIFR @ e 757 Tt |

Explain the relationship between investment
multiplier and marginal propensity to consume.
TGO Qe 3% &St Boitete! eierety g 7wl
AT A | |
22T-ECON-BENG 11 Contd.
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CFIeT GBI RIT-RIAT Gy

[In lieu of Qs. Nos. 3, 8, 10, 11 and 12 of Part A

25.

26.

27.

and Q. no. 22 of Part B] -

[F-2R17 3, 8, 10, 11 93¢ 12 @
VNG 22 T AT AR ]

Define price clasticity of demand. ‘ 3
bifes V- sicei e s |
Define long-run average cost and long-run

marginal cost and explain their nature. 4 8

. TLPT 1T 7 R AT 2R G eeal i

GR OIS &P =t AT

What does a demand curve indicate ? State the
assumptions under which the demand curve of ©

consumer is drawn. 3+3=6

aﬁmﬁmm%@mm?ﬁﬁaﬂﬁmmwm{_

FAR T PR

22T-ECON-BENG 12

29,

30.

22T-ECON-BENG 13

Explain the concept of total product, average
product and marginal product and represent them
with the help of a table. , 6

(UG ToAH, 516 Seofine 13 2ifEs Seomeaa Ligelf
PR IR @R 96 wiferela AR AT 0l |

“Monopoly firm is a price-maker”. — Explain.

6

“areoal Afevia g wa-Raes” — Ry I |

Explain the value added method of calculating
GDP. , 6

(B AR BeAMA (GDP) RN oy AT
AR 1T A |
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31,

(GROUP-B)
(For Old Course)

(I A7 Sy)

(PART-I : Economic Theory)
(@A =t : weftafes vg)

Answer the following :

ox eptefery Sea (e -

(a) What is primary data ?
A w2y Ft 2

(b)  Why is the demand curve of a firm in perfect
competition perfectly elastic ?
Al AfStRifronere T @l Sesim
ST BifEw i §f TS+ =8 @

(c) Who propounded the liquidity preference
Theory of Interest ? |
o O S Oyl ede

(d) Choose thc‘corrcct answer from the bracket
to fill in the blank :
The consistent rising of the prices in general
is known as . _____(inflation /deflation)

22T-ECON-BENG 14

1x6=6

32.

33.

34.

22T-ECON-BENG 15

TR OOR (U o TE @R N g
aj¢f A

A AeRe T Jw 2eW|ME . e
(RS | STHs)

(e) Fill in the blanks :

According to Ricardo
no rent,

eI oo A

() Who was the chief exponent of the theory
of comparative cost?

QAT T OGLd ol ST (P fRrei e

land yields

ofil &= o = |

Distinguish between schedule and questionnaire.
2

SIPIb! AR 2T ALY (IO |

Explain. 2

“Rent is a differential surplus.”

“Qet A G ALFETO Tge” — W1 |

Distinguish between insurable risks and non-

" insurable risks mentioned by Knight. 2

Contd.



- 35.

36.

37.

38.

39,

LT QI TS Y =15 @7 A Swiey
I AT oRle | -

Mention any two steps in the construction of
wholesale price index number: 2

RPN M R ege T T 5N 7 ()
75 AnEet St | -

Wrile any two advantages of direct taxes. 2
O SR 7 (e 76 FRet =t '
What arc the three motives of liquidity
preference ? 3
Siwey AfST o7 wfvam T Ne

Name any three types of diagrammatic
representation of statistical data. . - 3

MNEARRIS U St 7 ot o g SEQ
[ )

Clearly state any three basic features of a

monopolistic market. 33

aifEPE 2SN AR (37 oy [ ety

QR B S aEy|

22T-ECON-BENG 16

40. .

41.

42.

43.

44,

45.

22T-ECON-BENG

‘ mﬁ@maﬁwﬁrﬁmﬂwmfw CATCAN |

Distinguish between market price and normal

price, 3

A Md G2 FrelfRs viad o 204y et

Mention any three functions of Central Bank. 3

FER VET @ @A ol P S Wl

Distinguish between public finance and private

finance. 3

Mention any four determinants of rcal wages. 4

eipe WG Rt T @ oA s BAme TrEd
| .

Write any four characteristics of money. 4

R & (e b1alG CARE (e

Distinguish between internal and international

trade. s 4
weedd ¢} e s Ty Ak
CTC | ' |

17 Contd.



“erwiae e mean Trom the following data - 4 47

Frsre weyefm O iy Tl 3y -
M;{E;js No. of students
- -IO _m.a S

‘ _ 25
10 - 20 15
20 - 30 20
30 - 40 .. v 35 *
40 - 50 20
50 - 60 30
60 — 70 65
70 - 80 50

following data : 143=4

| @w%?ﬁm@wcww%wl

Class-interval

Frequency
C4-Sr 1T . ‘
0-10 W‘Zﬁ@
10 - 20 ‘ o
20 - 30 : 10
30 = 40 1t 2
40 - 50 3
50 -60 ) g
60 — 70 5
22T-ECON-BENG 18

What is public debt ? Mention any four methods
of repayment of public debt. 1+4=5

AT A TCH DI 2 FEHA A ARTNCER 7 A
5135 *afe Brard Al

Explain with the help of a diagram why a firm in
perfectly competitive market cannot attain
equilibrium when marginal cost is not equal to

marginal revenue. 1+4=5

2AifFT TeAma 7 w@amﬁmmwﬁcf
ARTRIBERES ASE (@ JFART 2
S =Ie A0 7N A, @36 s M IR
CoTCAl | '

. Or/WWI

Explain with the help of diagram how a firm
under monopolistic competition attains

cquilibrium. 5

Tl |

22T-ECON-BENG 19 : Contd.



(FAKI1-11 : Problems of Indian Economics)

(f%@*q o : BiTed wtifve TR 51, ?gggﬁion two significant roles of Public Sector 02f
49. Answer the following : | |x4=4 SR IR FTSRT 7o oler{ Lol Bt Sy |

mm@ﬁﬁ@@'m:

52. Mention any two evidences whichk indicate that .

(@) In ‘which year was the ‘Planning’ the success of planning in Assam is less than that

Commission’ constituted 7 of for the country as a whole. . 2
AR ST Pl AT ot w1 2fBege CT (A 75 2ol Ber S (7 ¢, SR AR
o S | HeTel ALOION AR FIETo! (AT 3 |
(®) l(\}Iame @ programme launched by the \

Government of Indi i

i India to eradicate poverty. 53. Point out any two causes of unemployment
TRGe! TR &Y SIS TR @l problem in India. 2
G (RN T (e |

OIS @F APU W_m 7fo <Pt wgfer Aot
(¢) In which year was the North Eastern Council A |
constituted ?

(IR AN Tex ofF =ifaw oi5w FAfRE 2 54.  Mention two measures to control black money in
4 India. 2
(d) What is black money ? SRS I B! g &y 75 Seit Srard el |
- IE Bl e

i ; 55. Explain the significance of water transport in
SQ. Name any two financial institutions that supply Assam’s economy. 3
rural credit in India. | 2 TR SIS T SRRt ieeR it |

- ORTS 2ly YRR F 75 R eifedia _
: ™ G l:_ 1 t .8 50. Point out any three areas of failure of India’s five
22T-ECON-BENG 20 year plan. 3

22T-ECON-BENG 21 Contd.



57.

58.

59.

60.

22T-ECON-BENG

Mention any three objectives of the eleventh fivi
year plan of India.

©IRUST G AR AR @ I 1o
STy Srard A |

Mention any three measures to promote India’
Export.

SRR IR 3 & @7 @ ol e
I

in India.

WWWW & A 51
FALCHCA A A

Discuss the role of nationalised commercial banks.
in extending credit to priority scctor. '

SEfEPIT A0S YW (RGPS
TR G ST A |

22

| 22T-ECON-BENG

Explain any five major causes of price rise in
India. 5

SISd TP % (3 (ATl =5l SR il S|

Or / 94t

Briefly discuss the achievement of North Eastern
Council. \ 5

Te7-7[7 #IRATTR AR TR 5! I |

23 Contd.



[In lieu of Qs. Nos, 36, 36 (Or), 38 and 38(0r) |
[36, 36 (=%3M) 38 93¢ 38 (Treray) 2WTLRT AT
62.

63.

22T-ECON-BENG /30 24

T e s e EwwEWE LW

FOR BLIND CANDIDATES ONLY
CFIET 7B mw-w1dT oy

Discuss two merits and two demerits of median
: ‘ 2+2=4

TGN ﬁ@-ﬁﬁ«ﬁ/ﬁmwmt |
Or / g3t

Discuss .the various methods for collecting
primary data,

GRIESACH oL B R SERgiy o ——
A |

Explain the basic features of perfectly competitive
market, | ;

What is monopoly market ? Why profit in monopols
market is greater than the profit in perfectly
competitive market. — Discuss. 2+3=5




